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ROBILHEREBEL I,

2 — = =

0 (% 5y =5 2 Az +4)+y=9
2z+3)=5-—y 2 +3y=—13

5 5z +1)=4(y +6) " Az —y)+3y =10
z—2=—1 Tz —5(22 —y) =1
2Az+1)—3y—2)=15 5 [det)—3e—y)=33
5z +2(y +1)=10 Az +y)—3z—2y)=35

ROETHEREME I,

. 2z +5y =6 o [PETU=12
%_%:_1 0.3z — 0.4y =0.2



ROBILHEREBE LI,

dz+y=—6 o =T
2% — 3z —y)=—5 Ur—2)+3y = —4

5 {2”_53/:_2 g [Ty =—13
T _y_ 5y =
LYoy dz—5y =9
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z—y=28

r+y)=2zx—1
22—y =12



ROBBAEIRE BT,

1) 24+3y=2z+y=5 (2) —2r4+y=4x+3y=10

3) 3x+Ty=x+6y=22 4) de+y=Tz+2y=-1

) z+y+2=3zx+2y=7 (6) Sr+2y+13=4x—3y+15=0
(7) 52+4+3y=3z+2y—4=-9 8 —8r+2y=3x—2y—9=8

@ ROFEAEZMBILIWV,
1) z+y=—xz+2y=3 2) 3x4+y=3x—3y+12=2+5



